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COST ACCOUNTING
‘ (Major)
FulI Marks - 80
Tlme — Three hours,

The flgures in the margin indicate full marks
- for the questions. :

- Answer' all questi'ons :
: E i »Answer the followmg as dlrected | 1><10-10’ .

= ‘_'(a) Aggregate of all dlrect cost is known as-————; -
— (Fﬂl 1n the blank)

" h Costmg systems are classified accordmg to
: _the nature of operatlens ‘ : :

(State whether the statement IS true or false) e

- (c) A cost umt is regarded as a unit of product o
_service or time in relation to which cost may
‘be ascertained or expressed. -

(State whether the statemeni is I;ue or fafse)

——
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b8 ] undertaken to customers
requirements.

(State whether the statement 18 true or false):

" (e) In periods of ri'si'ng 'prices profit and tax_§
liability under LIFO would be lower than'

under FIFO

(State whether the statement is. true or false)

() Wages under piece ;ate system are . pald'

according to the
" (Fill in the blank)

of work done.

() In CO’St,"Accounting,
, exampies of -
;(Flll in. the blank)

oV rhead

(h) Fixed ‘overhead cost per unit remams flxed
. when output level ch nges. e i
(State whether the statg ment is true or false)

f'v Qost ' of normal logs
bome by the goodsi ploduced.
¢ whether the sta

AC (M)

“ ’(d) Job order costmg 1s not apphed Where work 1
] specral,

udltmg expenses are :

proCess costing is.

€ ent is true or false)i i

v"

Write short answer to the followmg in about-
F A State the meamng of cost rn nespect

' ‘(b) State the meamng of idle tlrne in labour._

() State the meanmg of stores Iedger it

. Write short notes on any four of the followmg

'(a) Economrc order quantlty (EOQ)
.(b) Methods of overhead absorptron

(d) Cost centres .

‘ (e) Cost accountmg vs frnancral accountmg

(Sem—l) COAC (Ml) ( )_ b

)] The questron of reconcﬂratlon of cost
~accounts with fmancral accounts arrses only -
- under non—lntegral system. o

' ._(State whether the statement is true or false)

50 words each

e
accountmg
S costmg

(c) -State the meamng of tlme rate 1n wage : .
i payment , ,

(d) 'State the meamng of drrect Iabour '

5><4—-20

(c) Perpetual mventory system .:. ;
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| 4 Explam the advantages and hmrtatlons of cost A - The followmg mformatron is provrded by e
' accounting. How is a cost. accountmg system ‘it Shorbhog Candle P roducmg Company for the =
' 1nstalled e B 10 fortmght of Aprll 2011 " b 10 -
o S R i Matenals in. hand . e L
‘ Or( 1 Ay ;{Stock on 1 4 2011 = 1“ umts at Rs.S per umt., s
Rangia Tradtng Company furmshes the followmg  Purchases of mate‘nals L e
data relatmg to the manufacture of a- standard :

product durtng the month of Apnl 2009

bs 4 2011 ’ 300 umts at
. e 500 umts at
Raw matenals consumed Rs. 115,000‘ = 4 201 1 il o 6" umts at Re
-Dlrect labour charges Ay Rs.«‘9,000 s % (o _' .
| oA e o ' Issues of matenals s e
Machme hours worked 900 how 6 4. 2011 i | 250 umts

Machme hour rate Rs 5 ‘ o g 10, 4._2011 Ll 400 units
T e o 5 0 ts
Admmlstratlon overhead 20% on Works cost 8 % K. ZOI S e e L
sgumg Overhead Re 0 50 per s ' Calculate usmg FIFO and LIFO methods of i
: pncmg 1ssues o e

Umt produced 17 100 | (1) the value of matenals consumed durmg the'

Un1t sold 16 000 at Rs 4 per Mhiie e Lol B pertod and e
. §11) the Value of stock of nratenals on 15 4 2011 .

Prepare a cost sheet from the above showrng 5

(1) the cost per umt e ‘ : o o
State the s1gn1ftcance of 1nventory control i

(11) cost per unit sold and proﬁt for the penod. Explam the varlous techntques of mVentory _; o
‘ ‘10 8 control i e 10
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6 The followmg are the partlculars extracted f
~ the ice cream factory of Sonapur i

; Standard time = 10 hours : e e

Time rate = Rs. 3 per hour 5 es——-unp fodinlive. & e 4’0?0. e
Prepare a comparatrve table under Halsey | i 1ssued to p mductlon: e 23’000 e
- and Rowan Plan if time taken is 9 hours 8 hou S orks expenses 1ueurred B 12‘0

and 6 hours

From the calculated table show the amount n:;‘ rmlmstratlon expensﬁs pald'
bonus payable ; the amount of total ‘wages. ang '
Jabour cost per hour under the two method o

dmlmstratron expenses charged

producuon e 8600

o s s ples (Cash) ,j,f‘_ o \578,0_097. ;
(a) Explain the difference between direct an mshed goo ds . cost S 000 :

_ indirect expenses and highlight the i rmport : S _
of such a distinction. . Cen _ Bl Or i

L - ‘ : 3 : hat are. the drfferent methods of classrfyrng_,-
i =(b) Descnbe the causes of labour turnover =rheads 2 Explarn the pnncrples on whrch e
i 1ndlcate techmque of 1ts measurement' pp rtlonment of overhead is based =10

. "From the following informetion you ‘are as
to pass Joumal entries under the 1nteg
; accounts systern S

‘Materials purchased on credlt
: Wages paid i |
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